20108 =0llat LBESIH =

A FRIMEX A
g3 NFARISADIg 25

3 Al

Sol: XIALE =XDIE X4 (Etel: &8
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS o e HlnE2
Z0IME X 2D 12,825,879 6,146,907 6,678,972
= 2,173,272
= 207,694
= 599,534
Al 9,845,379
XA = XIDIEE 25 6,344,136 2,738,832 3,605,304
= 2,148,578
= 207,694
= 359,333
Al 3,608,531
XtAtEl =018 X4 378,057 337,276 40,781
= 57,815
= 3,000
= 8,000
Al 309,242
OITHE!I P B ALY 7,365 7,210 155
201 Yer2oy| 7,365 7,210 155
01 At el 7,365 7,210 155
O1 gptag| 7,365
> TEHE 7,365
OYARSHIE 4,2002 * 5001 210
0SZ27SHE 45,0002 * 5004 2,250
0SZ27SHE ~E R
22,5002 * 5004 1,125
0SZ27SHE Of Xt)
24,8002 * 5004 1,240
OMIIRSHIE 41,6002 * 2504 1,040
ONERS2E 30,0002 *507H 1,500
Ko AS| =X ols 2 40,000 50,000 10,000
= 8,000
Al 32,000
307 QI2H0IE 40,000 50,000 10,000
= 8,000
Al 32,000
02 QI2tHAE R 40,000 50,000 10,000
OXHAI =X B3 2
40,000,008 * 12! 40,000
= 8,000
Al 32,000
ZOMBXALA QBEOT 2 31,040 31,040 0
201 Lere gl 5,040 5,040 0
01 At el 5,040 5,040 0
03 24y 5,040
>eIZBOIH RS
000% * 189! * 43| 5,040




A FRIMEX A
M NSAt== X018t 25

el XISIAREl =XJIEE T4 (B9 &2
_ _ _ Muo
SN YO (BH) - MBAY - BYS Of) & o il i~ o HRs2
307 212H0I 26,000 26,000 0
02 PIHFASBE 26,000 26,000 0
OB BN 2 20,000,0008 * 14! 20,000
ORIZEIH 2 2
1,000,0008 * 6I4 =D 6,000
MEI SIS R &AL 15,000 8,000 7,000
307 212H0I 15,000 8,000 7,000
02 QIZHAER 15,000 8,000 7,000
O 158 AtSISXICHZ R AL
15,000,008 * 14! 15,000
ZOMBRR BN 22 9,000 12,280 ~3,280
201 Y2 Y| 3,000 7,000 A4,000
01 AtR 22/t 3,000 7,000 A4,000
O1 gurgy| 3,000
>80 MHIAS OHLYRT 22t
6,0008 * 500 3,000
202 01l 6,000 5,280 720
01 ZUjodHl 6,000 5,280 720
OFDIMENR 42 28 ot
6,000,0002 * 14! 6,000
S8 ZAl 8,000 18,000 0
202 0fH| 18,000 18,000 0
01 =Uf0dHl 18,000 18,000 0
OSEZEA 2248 016 18,000,000 * 14! 18,000
MEZSNSAESUSHE 29 10,000 10,000 0
307 212H0I 10,000 10,000 0
02 QIZIHAER 10,000 10,000 0
OMBISNEANSSAISHE2Y
10,000,008 * 14! 10,000
JETCYIANALSY 10,000 10,000 0
307 212H0I 10,000 10,000 0
02 QIZAMEE 10,000 10,000 0
OJZZCSHWIAY 2 10,000,0008 * 14! 10,000
ECWIASHTY X2 3,733 3,733 0
= 3,000
Al 733
402 QITH2O0|H 3,733 3,733 0
= 3,000
Al 733
01 PAR=EE 3,733 3,733 0




A FRIMEX A
g3 NFARISAIIE 25

&2l XYAsl SXJ/18t =4 (9 E2
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
OFtW3 2F&Hl XA 3,733,000& 14 3,733
= 3,000
Al 733
2=Al A2 Z2XHH 29 68,289 14,760 53,529
201 LBty 44,289 14,760 29,529
01 AFR 22| 1,100 1,100 0
O1 Et==ZH| 1,100
D283 A 300,000& x23] 600
>ESIE A 500,000& *13] 500
02 2223H| 43,189 13,660 29,529
o1 3322 % HA 13,100
> &3S 700,000& * 12& 8,400
> &otrE2= 300,000& * 12& 3,600
> SHINNERES 300,000& * 23| 600
D uERYRHEZ 500,000& * 13 500
O2 d=zHl 16,489
> BII22d A=l
7562 x1052 *8A| 2t+2,000,000kca | /100, 000k 12,701
cal
> 2+2gd d=t|
7562 * 1052 = 8Al2t * 250,000kcal /100, 1,588
000kcal
> Sgef stetAl2 2,200,000& * 14 2,200
O3 A& ZHI= At 13,600
> gL =E 89 300,000& * 53| 1,500
> &II&Hl HIIEAM =2
500,000& * 13| 500
> AZAIY HY FIIFEE =2
500,000& * 13| 500
> SZ0 HII1ZAM =2 100,000& * 13 100
> &I RANEF =22
100,000& = 123 1,200
> &tz =
200,000& = 12& 2,400
> aFSX A2
200,000& = 12& 2,400
> JIAH. M. A48 Sl
5,000,000& * 14 5,000
307 gI2told 24,000 0 24,000
02 ItAASE X 24,000 0 24,000
O A=Al AZISXIHE 22l 21|
2,000,000& = 12! » 12& 24,000
MNEIZXESMEIA B2 ALY 115,630 0 115,630
= 57,815
Al 57,815




A FRIMEX A
M NSAt== X018t 25
=Rl NEAtel SX0/gh &4 (98

OH
i

SN CR(EH) - NRAY - BES el

[
=P
R
12

o

£l

0l%

IS

101 1A H] 115,630 0 115,630

= 57,815
Al 57,815

04 JIZHMIZ2XNSE =+ 115,630 0 115,630
OMsIEXSEAMEIA 82 CIAHI
115,630,000 * 14! 115,630

57,815
57,815

= W

ZE0 ALY 50,000 0 50,000

W
o
~
e
v
=
r

50,000 0 50,000

N
o
~
o
03
HT
b

50,000 0 50,000
50,000,000& = 14! 50,000

O
ol
n
=}
X
=
12
o
02

NI DN SRS EDN 2,139,916 1,011,095 1,128,821
1,376,171
50,518
123,429
589,798

= HHD J

ABISXAIESMIE SN+ (RS E=0A4) 27,360 29,160 21,800

5,472
21,888

= H

307 2120l A 27,360 29,160 A 1,800

5,472
21,888

= H

02 BItANEX 27,360 29,160 A 1,800
NESEAMI EX=Z

27,360,000& * 14 27,360
5,472
21,888

= H

SUA2RRE 243 146,600 146,600 0

50,518
96,082

=M

301 et Az 146,600 146,600 0

50,518
96,082

=M

eaAZA2 146,600 146,600 0

A 146,600
5,00021 % 11001 x212 x 122 138,600
46,743
91,857
>t 2 H 1,500,000 *59! 7,500
3,750
3,750
SO IS ZHROIH 50,0002 *109! 500
25
475

= HI = [

= M




A FRIMEX A
g3 NFARISAIIE 25

Sl ABISX Y Y (2o @e)
. - o e =
RA B SA(BH) - NRAY - B 01 e HRE2
K12 AFSI A HI A S XEAHY 1,965,956 835,335 1,130,621
=2 1,376,171
= 117,957
Al 471,828
307 12+0I & 1,965,956 835,335 1,130,621
2 1,376,171
= 117,957
Al 471,828
05 QI2teietz 1,965,956 835,335 1,130,621
OXISALEI A HI A S THAHY
1,247,261,0008 * 14! 1,247,261
=2 873,083
= 74,836
Al 299,342
OFUAYY 2 718,695, 0002 *14! 718,695
2 503,088
= 43,121
Al 172,486
NASHANSK & 590,220 532,620 57,600
2 251,000
= 65,650
Al 273,570
dAes 1 71,320 61,320 10,000
201 Yere| 21,100 11,100 10,000
01 AtR22lt| 12,100 2,100 10,000
O1 YeragH| 10,000
DEASS Sa5 JBRE (AT 22
10,0002 *1,000 10,000
03 2g+y 2,100
>EAISASIRS &L 70,0008 *50! 63l 2,100
03 A2t 9,000 9,000 0
OFAHIONY BA 9,000
> 24 AIH 50,000€!* 1074 500
> &AM & 1,500 5, 0007H 7,500
> &AL S I 100,000 «107H 1,000
303 BaS 5,400 5,400 0
01 ma2 5,400 5,400 0
OHNEE 42N T4
9000008 *6IH S B S 5,400
307 212+0I & 44,820 44,820 0
02 QIHAMRE 44,820 44,820 0
OANRUNZEI HA2S 2|
40,000,000 *14! 40,000
OHANEE +42(R, 26 HET)
1,0042!+5,00021 +128 +8/100 4,820




A FRIMEX A
M NSAt== X018t 25

Sl HASHANSTR (el &2
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES Off &k il b o bRz
2z=x 313,750 231,250 82,500
2 251,000
= 12,550
Al 50,200
01 YerBA2 313,750 231,250 82,500
2 251,000
= 12,550
Al 50,200
NIEEREPE 313,750 231,250 82,500
SEIEEN 313,750,000 * 141 313,750
2 251,000
= 12,550
Al 50,200
AARAVRAS X 53, 100 91,000 A37,900
= 53, 100
301 LB 53, 100 91,000 A37,900
= 53, 100
01 ABIEZEAH3 53, 100 91,000 37,900
ORI BI2A SR 53,100,000 * 14} 53, 100
= 53, 100
SESTE A 38,000 38,000 0
201 2sr2 | 3,000 3,000 0
01 ALR eIt 3,000 3,000 0
O1 L8| 3,000
>512 2010 LESHQ £& gt +8H)
3,000,002 * 14! 3,000
301 YsrE a3 10,000 10,000 0
01 ABIBHEAH 3 10,000 10,000 0
0225 ASBE(4,54)
10,0002 * 50001 * 23| 10,000
303 Z&3 5,000 5,000 0
01 Z&3 5,000 5,000 0
O3l 2010 OIS LA E43
20,0008 * 25 = A 5,000
307 BI2HOI 20,000 20,000 0
02 DIPARE 20,000 20,000 0
ONASHS ¥ SHAY 2X3
20,000,002 14! 20,000
METR! X2 4,050 4,00 0
301 LB 2,250 2,250 0
10 BAFAEI 243 2,250 2,250 0
OMEI®! AEIHSDE Oft]
50,0002 * 1501 * 13| 2,250




A FRIMEX A
M NSAt== X018t 25

Sl HASHAHSN (S5l &2
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 O AF o8 il b o B2
307 QI2H0IH 1,800 1,800 0
IETEPNEES 1,800 1,800 0
OMEIQl 2HEr3l SAF 30,0008 * 602! * 13| 1,800
HASzAHENAZ 22 X2 110,000 107,000 3,000
202 OiH| 30,000 27,000 3,000
04 =2RI&H01b| 30,000 27,000 3,000
ONBADREZ F2lQi4(ARIXIE=R)
30,000,000 * 1Al 30,000
203 HRFAY| 80,000 80,000 0
03 AlZ =T R =AY 80,000 80,000 0
ONBZ=ZAREZY| 80,000,008 * 14! 80,000
2gol(Ls0)Es 3,235,943 857,841 2,378,102
= 463,592
= 154,176
= 162,254
Al 2,455,921
2NERY 490,846 523,779 £32,933
= 343,592
= 147,254
307 QI2H0IH 490,846 523,779 £32,933
= 343,592
= 147,254
EEEPEES 490,846 523,779 32,933
oRgoALRY 490,846,0002 * 14! 490,846
=2 343,592
= 147,254
CENEBAL 29 162,362 162,362 0
= 154,176
Al 8,186
307 Q1201 162,362 162,362 0
= 154,176
Al 8,186
02 BIABABE 162,362 162,362 0
O=X 2SALSY(CAAEES 114)
81, 181,0002 x20H 162,362
= 154,176
Al 8,186
X X2 8,500 8,500 0
301 LPBAI 4,900 4,900 0
01 ABIBEE 263 4,900 4,900 0
OL=XH@2AX) AFY Z2lbl 50,0008 %57 2,500
O#A Xt HIIEX 016l 10,00021%2001« 128 2,400
307 Q1201 3,600 3,600 0




S OB D
=R EEPTEPI
S RYol(=H0)Es (e @8
_ _ MNuE o
SA-EHB . CA(ENH) - HEAY - BE2 Ofl & o il i~ o Rz
05 BI2HPIE3 3,600 3,600 0
OO0t 2 & AT 015
20,0002 * 1531 * 128 3,600
BRAE MHZ0H(2YQ) 150,000 150,000 0
= 120,000
= 15,000
Al 15,000
307 2120/ H 150,000 150,000 0
=2 120,000
= 15,000
Al 15,000
02 QIRIAMBE 150,000 150,000 0
OBFAL MHI0(2Q)
150,000,00021 * 14} 150,000
= 120,000
= 15,000
Al 15,000
MBS HASTIAIL HA (RHOIAE) 2,424,235 0 2,424,235
401 AEHI2L 2] 2,424,235 0 2,424,235
01 Al&| 2,336,000 0 2,336,000
OAFTNBEXR =Y 2,336,000
> EXIH] 1,836,000,0008 * 14! 1,836,000
> Y2 JH& (L=800m, B=6.0m)
500,000,0002 * 14! 500,000
02 22yl 78,005 0 78,025
OAFNEXR A= 78,025,000 * 14 78,005
03 Al& S OHH| 10,210 0 10,210
OAN &SI 10,210
PREAFANYEXH ASTA RO
1,836,000,0002! *0.36/100 6,610
> HUT2 WEZA RO
500,000,000%! * 0.72/100 3,600
20 22 2ol L N 546,340 247,240 299,100
= 2,500
Al 543,840
28 H2% A F7 546,340 247,240 299,100
= 2,500
Al 543,840
PENS B2l 29 69,540 26,240 43,300
201 Ygreg| 6,500 7,000 A500
01 AtRZ2lt| 1,000 2,000 A1,000
O1 ger2gH| 1,000
>EES2Y LB 1,000,008 * 14! 1,000
02 ZZ2Y| 5,500 5,000 500




SN FEOIMEX D
Hm: 2 22 el U X
o9l BE MY MY X3 (S5 &2)
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F OH Ofl At ot Hws2
O1 23232 ¥ HAl 5,500
PEEE MII23 300,002 * 122 3,600
DEEE & ST AB2 50,0008 + 128 600
PEEEY BEAZA EaAIE
150,008 + 23] 300
>HEE SN 2O X2
1,000,0002! * 14! 1,000
202 Oft] 8,040 9,240 A1,200
01 =2Uioibl 8,040 9,240 A1,200
OSEYD 7 230l 8,040,002 * 1A 8,040
307 Q20| H 10,000 10,000 0
05 PI2tSIEt3 10,000 10,000 0
O8zgdel A2 10,000,008 14! 0,000
401 Al&HIL 20| 15,000 0 15,000
01 Al&t| 15,000 0 15,000
O8ZEY 2 XY X A
5,000,002 * 14} 15,000
402 RIAR 20| 30,000 0 30,000
01 PIHXI=EE 30,000 0 30,000

OBEHH AREIIFY

3,000,000 1070 = Al 30,000
S5 A 28,200 27,400 800
201 et 16,700 15,900 800
03 A2 HI 16,700 15,900 800
OXHREUWE) 2,000& = 2,500¢! 5,000
O#MEBZ (B 23S 78)
3,000,000 * 14 3,000
OB At 350,000& = 1604 5,600
O#ALE2ARH(SCtAE )L XL
2,500& = 1,0004 2,500
OBZ Xt 600,000 * 14| 600
301 LEtE2AS 10,000 10,000 0
10 SAIAHIEA S 10,000 10,000 0
OS2 B47F AdH2Y
10,000& * 1,0002! 10,000
401 AIEHIZ R0 1,500 1,500 0
04 SALZHAIZH] 1,500 1,500 0
OOHH M= 1,500,000& * 14 1,500
2EHA N 120,800 181,600 260,800
307 2120l & 120,800 118,600 2,200

02 2ItAAE X 2,000 2,000 0




M =olME 2 0t
Ha: 2} 2E 22l ¥ K
Oo: HE MY AY XX o &)
}\_I X~ xH C|—O|(§I]:”) }\-“C‘}\I.O'l HASX2 AFOH I|_‘|LI;=|_|‘:_ ot
oxtgzZ2=zll &4l 2,000,000& = 14 2,000
03 AlIHME=S 118,800 2,200
Otistel=s &2 = AKXI3
4,375,000 43| 17,500
Olistel=s =2 3l |FAIKSE
3,725,000 * 43| 14,900
Oletl= &0ol= =AM 2
3,575,000& * 43| 14,300
OUstels 2=2X3 |FAIXE
3,700,000& * 43| 14,800
Otfstel= HIEE 23 AFAKXE
2,250,000& * 22| 4,500
Oletel= ngH A=X32
3,250,000 * 43| 13,000
Oletel= 6-25 A= AKX E
5,500,000& = 13l 5,500
O2FAl HEZS(6-268™ H59x=H JIE
SHAL) 10,000,000& * 13l 10,000
O&=3 AFAXz2 19,300,000& 14! 19,300
OUste= SheoasTs A%K
5,000,000 *14] 5,000
SERIN ®F =4 N 12,500 12,500
= 2,500
Al 10,000
307 212t01H 12,500 12,500
& 2,500
Al 10,000
01 A=Y =H| 12,500 12,500
OSESZX 95 ozb U
12,500,000& * 14l 12,500
& 2,500
Al 10,000
g BE3& MM 80,000 80,000
401 A &HI L2048 80,000 80,000
01 Al&H| 80,000 80,000
Osg 2232 &A= 80,000,000& = 14l 80,000
HERSX NS At 235,300 235,300
301 Yptsaazg 235,300 235,300
12 JIEtE2 4= 235,300 235,300
O Hil=¢ 1,5959 * 20,000& » 7& 223,300
OAMZ 2123 80 * 150,000& 12,000
NS A A 3t 268,428 A1,229
= 24,694
= 7,200
Al 236,534




SN
X XH .
S Tt

el

1A

=

Ol A& X & 1t
A2
HSAS K

_ _ _ HET
N Z3 . CA(ZAH) - MPAY - BES Ol AF o8 HwsZ
SAESXE 268,428 269,657 A 1,229

= 24,694
[ 7,200
Al 236,534

AFATALSAE 2 172,040 172,040 0
307 QI2H0I A 172,040 172,040 0
05 DIZt9IEr3 172,040 0 172,040

O FA NHASAHEH 2Z X3
172,040,0002 * 14! 172,040
A=A 2CIHI0IE X 30,470 30,470 0
15,235
15,235
307 QIZHOIA 30,470 30,470 0
15,235
15,235
05 BIZt9IEt3 30,470 0 30,470
OX&EA 2CIUIOIH X
30,470,0008 = 14l 30,470
15,235
15,235

AZAX S AR LK el 6,000 6,000 0
301 YLHEAS 6,000 6,000 0
10 SAIAHIZA2 6,000 6,000 0

OJFANIASAR SXK A

75,0008 * 809! 6,000

MBS A2E3 36,000 36,000 0
[ 7,200
Al 28,800

201 Lt 36,000 36,000 0
[ 7,200
Al 28,800

01 ArRZ2IH 36,000 36,000 0
OMIFX MEES 36,000,000& * 14 36,000
= 7,200
Al 28,800

2AFAl KRS AR TH3) 5,000 4,000 1,000
307 QIZHOI A 5,000 4,000 1,000
05 CIZtRIEZ 5,000 0 5,000

OSFAIR S ALK THEl  5,000,0008 = 14 5,000
ASAX 2EE X 18,918 18,207 711
= 9,459
Al 9,459
307 QIZHOIA 18,918 18,207 711




SN FOIMB D
Zo: NRZAE A5
S MRZASSX (el &2
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES 0ff &+ o4 il b o bRz
= 9,459
Al 9,459
05 9I2relera 18,918 0 8,918
OXRESAT B2 XY 18,918,008 * 14 18,918
2 9,459
Al 9,459
EESIEE 5,574,130 2,803,980 2,770,150
= 230,501
Al 5,343,629
DEX 5,574,130 2,803,980 2,770,150
= 230,501
Al 5,343,629
202 B X WALKIR 1,084,500 766,900 317,600
308 XX EHHISOIH 1,084,500 766,900 317,600
05 XG2S 1,084,500 766,900 317,600
OROPIBEDAL X 1,084,500
MEBHBO 022 24 1D 25,000 40,000 15,000
308 XX EHHISOI & 25,000 40,000 15,000
05 REXISHHM2R Y3 25,000 40,000 15,000
OMEHBO| 0242 24 1Y Hst Mst
E 5,000,0008 * 59! 25,000
DEAL X2 2,962,126 1,278,563 1,683,563
201 LByl 1,260 1,260 0
01 ARl 1,260 1,260 0
03 2944 1,260
DEFA DSPH BES ARG Hap
= 70,0002 * 921 * 23] 1,260
202 01t 3,960 3,960 0
01 2hoit] 3,960 3,960 0
ONSXA L £8 014l 3,960,002 * 1A 3,960
308 XX EHHISOIF 2,956,906 1,273,343 1,683,563
06 LIRS ZE2 2,956,906 1,273,343 1,683,563
OHEXSHD USHA MS
200,000,0008 * 14] 200,000
OSaZESsn AXRIPE L
200,000,002 * 14} 200,000
OlgDNSsD 18X 2Y 2+ ¥ SAL
== 500,000,008 * 14} 500,000
ORAFURDSHD ADCNB 55
216,906,009 * 14} 216,906
ORUBISHD S 55
300,000,0008 * 14 300,000
OZS FOHERA 75 L 2YN 1,540,000




A FRIMEX A

o NS=X HE
ol DR EEREED
_ _ HE T
S HH - (BH) - MBAY - B2 il ot o Rz
> XS FOAERA 7= L 2 (HFISD
g) 1,140,000,0008 * 14! 1,140,000
> ZE UMDY 2Y(HESADE)
100,000,000 * 401 400,000
S4=M2 HDIANBAY 689,799 518,517 171,282
= 137,960
Al 551,839
308 XHXI IS Ol & 689,799 518,517 171,282
= 137,960
Al 551,839
06 REIIROICHEEE2 689,799 518,517 71,282
OR+=42 SDIAXE Al
689,799,0002 * 14! 689,799
= 137,960
Al 551,839
SAOE 2SR 200,000 200,000 0
308 X+XI IS O & 200,000 200,000 0
06 RSN 2 T2 200,000 200,000 0
OSM0E SIS 3D N
200,000,000% * 14! 200,000
ATHOL 014 T4 DS&D £8 X 462,705 0 462,705
= 92,541
Al 370,164
301 YBrEA3 462,705 0 462,705
= 92,541
Al 370, 164
01 AHEI R X253 462,705 0 462,705
OMTHOF 014 XHH DR 2948 X
462,705,00021 * 14 462,705
= 92,541
Al 370, 164
ATHDS X & 50,000 0 50,000
308 XHXIEHHIS Ol & 50,000 0 50,000
06 REIIZ0ICHEEE2 50,000 0 50,000
OgNMLE X 50,000,008 * 14! 50,000
DESXNET XA 100,000 0 100,000
308 XX G S 0l & 100,000 0 100,000
06 REIIZOICHEEE2 100,000 0 100,000
ORNS=X EX XA
100,000,00021 * 14} 100,000
HHLSY AU (FOUMS XA D) 92,845 87,198 5,647
ol 2| (FOIME XV D) 50,005 48,942 1,063
oIzt 2| 50,005 48,942 1,063
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